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Al HA 60 126 89 122 86 68 51 61 48 2.1
% = 20 168 123 65 47 26 22 25 21 8.4
# B 45 107 76 107 76 46 42 46 42 2.4
(/e 25 82 56 82 56 27 26 27 26 3.3
NP &l (RAR—Y) 7 8 4 8 4 7 4 7 4 1.1
€300 9 8 8 8 8 8 8 8 8 0.9
A (E8E) 4 9 8 9 8 4 4 4 4 2.3
% ENEAN FTH 4 1 4 1 3 1 3 1 -
#t & &t 125 405 289 298 210 143 116 135 112 3.2
= Bl HA 43 97 32 94 30 50 18 50 18 2.3
# % 14 92 45 23 10 14 7 10 6 6.6
? I BURERTE # B 18 46 19 46 19 18 11 18 11 2.6
Hp RBENEAN BFA 0 0 0 0 0 0 0 0 -
& &t 75 235 96 163 59 82 36 78 35 3.1
Bl HA 103 223 121 216 116 118 69 111 66 2.2
% = 34 260 168 88 57 40 29 35 27 7.6
FE A&t #E 63 153 95 153 95 64 53 64 53 2.4
MENAEAN| ETH 4 1 4 1 3 1 3 1 -
& &t 200 640 385 461 269 225 152 213 147 3.2
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Al HA 48 73 36 70 35 56 31 55 30 15
" % #i 15 87 48 25 10 21 10 21 10 5.8

INEREHTO— & Al
hPEFFI—R # B 25 58 39 58 39 29 23 29 23 2.3
& &t 88 218 123 153 84 106 64 105 63 25
Bl HA 23 29 12 27 11 21 9 21 9 1.3
FERHEEFI—R # E 6 12 6 12 6 7 6 7 6 20
& it 29 41 18 39 17 28 15 28 15 1.4
- X a1 HA 5 6 5 6 5 5 4 5 4 1.2

=h a— Al ’_
Hiyoa—2 & it 5 6 5 6 5 5 4 5 4 1.2
PRTN Bl # 5 7 1 7 1 4 0 4 0 1.4
HE¥Ia-2 & &t 5 7 1 7 1 4 0 4 0 14
Al H#A 5 6 1 5 1 5 1 5 1 1.2
HEHITI—X # B 3 6 3 6 3 3 3 3 3 2.0
& &t 8 12 4 11 4 8 4 8 4 15
e 1Ly BT HA 3 4 4 3 3 3 3 3 3 1.3

o w P-4 q1— H” z_
7 FRIIATR | s 3 4 4 3 3 3 3 3 3 1.3
12 TR 2 1 1 1 1 1 1 1 1 05
" & EHiHIa—2 | # & i 1 1 1 1 1 1 1 1 1.0
= ?g & &t 3 2 2 2 2 2 2 2 2 0.7
g 2 B 3 5 0 5 0 3 0 3 0 1.7
w0 | = REATYIa—X| # B 2 5 2 5 2 3 2 3 2 25
54 & &t 5 10 2 10 2 6 2 6 2 2.0
5 Al 22 22 8 22 8 20 7 20 7 1.0
2 BHHEI—X H B 10 24 12 24 12 10 6 10 6 24
& &t 32 46 20 46 20 30 13 30 13 14
Bl HA 12 8 2 8 2 7 2 7 2 0.7
HFEHITI—R B 5 15 7 15 7 5 2 5 2 3.0
& & 17 23 9 23 9 12 4 12 4 1.4
a1 A 10 14 6 14 6 13 5 13 5 14
By Ia—X ¥ B 5 9 5 9 5 5 4 5 4 1.8
& it 15 23 11 23 11 18 9 18 9 15
Bl HA 5 13 9 12 8 8 6 8 6 26
= % H 2 23 17 3 2 2 1 2 1 115

R ZEHETI— & e
RASBEARI-R 4 10 7 10 7 4 3 4 3 25
& it 11 46 33 25 17 14 10 14 10 4.2
Bl HA 98 137 65 131 62 105 53 104 52 14
sean At % 17 110 65 28 12 23 11 23 11 6.5
ahoRe B 45 104 64 104 64 50 38 50 38 23
& &t 160 351 194 263 138 178 102 177 101 2.2
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Bl HA 55 101 42 96 39 65 27 59 24 1.8
% # 17 85 28 38 10 25 5 18 5 5.0
b S TE T A # B 13 39 16 39 16 13 6 13 6 3.0
e £MELFH BET 5 2 0 2 0 0 0 0 0 04
MENEAN FTH 19 5 19 5 6 1 2 1 -
& &t 90 246 91 194 70 109 39 92 36 2.7
Al H#A 38 61 23 59 22 45 16 39 13 1.6
% HA 12 56 16 22 5 17 3 10 3 4.7
P i 10 29 13 29 13 10 4 10 4 2.9
feFa—2 Weln - 0 0 0 0 0 0 0 0 -
MWENEAN ET4H 6 1 6 1 4 1 2 1 -
& &t 60 152 53 116 41 76 24 61 21 25
Bl HA 17 40 19 37 17 20 11 20 11 2.4
% = 5 29 12 16 5 8 2 8 2 5.8
- H B 3 10 3 10 3 3 2 3 2 3.3
£@a—R BET - 2 0 2 0 0 0 0 0 -
MWENEAN BHT4H 13 4 13 4 2 0 0 0 -
& &t 25 94 38 78 29 33 15 31 15 3.8
Bl HA 51 74 8 71 8 61 8 58 8 15
% # 13 93 12 32 3 19 3 13 3 7.2
. . H & 11 19 1 19 1 12 1 12 1 1.7
MR HHEL R wa 5 0 0 0 0 0 0 0 0 0.0
MRENEAN BEFL 4 0 4 0 3 0 1 0 -
& &t 80 190 21 126 12 95 12 84 12 24
Al H#A 22 32 3 31 3 27 3 25 3 15
% #3 4 44 8 16 2 6 1 4 1 11.0
" H B 4 10 1 10 1 5 1 5 1 25
HE-PEI—R =l - 0 0 0 0 0 0 0 0 -
MENEAN ETFS 1 0 1 0 0 0 0 0 -
& &t 30 87 12 58 6 38 5 34 5 2.9
Al H#A 29 42 5 40 5 34 5 33 5 14
% # 9 49 4 16 1 13 2 9 2 5.4
- B 7 9 0 9 0 7 0 7 0 1.3
XTU7 A=A BET - 0 0 0 0 0 0 0 0 -
MWENEAN FET4H 3 0 3 0 3 0 1 0 -
& &t 45 103 9 68 6 57 7 50 7 2.3
Bl HA 158 195 21 188 20 172 20 166 19 1.2
i #® 3 44 173 23 58 8 53 8 34 6 3.9
T ¥ B 53 89 13 89 13 54 5 54 5 1.7
$ VAT LB I ER BE 1 10 17 0 17 0 9 0 9 0 1.7
B ) 5 1 0 1 0 0 0 0 0 0.2
MENEAN FT4H 29 2 29 2 7 0 1 0 -
& &t 270 504 59 382 43 295 33 264 30 1.9
Bl HA 38 38 1 37 1 40 3 40 3 1.0
% = 12 38 2 16 1 14 1 8 1 3.2
B 10 17 1 17 1 10 0 10 0 1.7
BEREFHEEI—X =1 - 3 0 3 0 1 0 1 0 -
=il - 0 0 0 0 0 0 0 0 -
WENEAN FT4H 5 0 5 0 2 0 0 0 -
& &t 60 101 4 78 3 67 4 59 4 1.7
Al H#A 35 57 9 55 9 42 6 42 6 1.6
% M 12 47 9 12 2 10 2 7 1 3.9
B 8 27 8 27 8 8 2 8 2 34
HEE-ATATHERI—R | #BE1 - 6 0 6 0 2 0 2 0 -
Y=Y - 0 0 0 0 0 0 0 0 -
MWENEAN BFTLH 13 2 13 2 1 0 0 0 -
& &t 55 150 28 113 21 63 10 59 9 2.7
Bl HA 50 62 7 60 6 53 6 49 5 1.2
% # 15 57 6 23 3 21 3 16 3 3.8
H B 15 25 1 25 1 16 0 16 0 1.7
Wi Ea—X Be - 3 0 3 0 2 0 2 0 -
=il - 1 0 1 0 0 0 0 0 -
MENEAN ETFS 9 0 9 0 3 0 1 0 -
& &t 80 157 14 121 10 95 9 84 8 20
Al H#A 35 38 4 36 4 37 5 35 5 1.1
% #3 5 31 6 7 2 8 2 3 1 6.2
B 20 20 3 20 3 20 3 20 3 1.0
#HEREB REI—X MEe1 5 5 0 5 0 4 0 4 0 1.0
WeI - 0 0 0 0 0 0 0 0 -
MENEAN BHT4H 2 0 2 0 1 0 0 0 -
& &t 65 96 13 70 9 70 10 62 9 15
Al HA 264 370 71 355 67 298 55 283 51 14
% # 74 351 63 128 21 97 16 65 14 47
B 77 147 30 147 30 79 12 79 12 1.9
=8 &F = 10 17 0 17 0 9 0 9 0 1.7
=il 15 3 0 3 0 0 0 0 0 0.2
MWENEAN FTH 52 7 52 7 16 1 4 1 -
& &t 440 940 171 702 125 499 84 440 78 2.1
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Bl HA 26 56 21 50 17 32 13 31 12 2.2
% # 4 23 9 9 4 4 2 3 2 5.8
PPN # B 5 8 2 8 2 5 2 5 2 1.6
LI BAT 5 7 3 7 3 5 2 5 2 14
MENEAN FTH 0 0 0 0 0 0 0 0 -
& &t 40 94 35 74 26 46 19 44 18 24
Al H#A 32 35 19 34 18 28 14 26 14 1.1
% M 3 25 15 12 10 7 6 7 6 8.3
. . i 3 13 10 13 10 5 5 5 5 4.3
ML P BET 2 8 4 8 4 2 2 2 2 40
MWENEAN ET4H 1 1 1 1 1 1 1 1 -
& &t 40 82 49 68 43 43 28 41 28 2.1
Bl HA 16 35 16 32 14 18 10 17 9 2.2
% = 3 23 13 9 2 4 1 4 1 7.7
o e i 6 9 5 9 5 7 4 7 4 15
R Foy=pl! 5 5 3 5 3 3 3 3 3 1.0
MWENEAN BHT4H 0 0 0 0 0 0 0 0 -
& &t 30 72 37 55 24 32 18 31 17 2.4
Bl HA 36 65 20 62 19 48 14 47 13 1.8
% # 7 25 14 13 6 5 2 2 0 3.6
s o g gt 3 B 11 14 6 14 6 10 6 10 6 1.3
BHEEREFH “waT 6 4 1 4 1 2 1 2 1 0.7
MRENEAN BEFL 0 0 0 0 0 0 0 0 -
& &t 60 108 41 93 32 65 23 61 20 1.8
s Al H#A 26 A1 11 39 11 35 10 35 10 1.6
g % 4 11 6 5 3 2 1 0 0 28
2R BT (2 %0—2 # B 6 7 4 7 4 5 4 5 4 1.2
RERVATLFI-R WA 4 3 0 3 0 1 0 1 0 0.8
MENEAN ETFS 0 0 0 0 0 0 0 0 -
& &t 40 62 21 54 18 43 15 41 14 1.6
Al H#A 10 24 9 23 8 13 4 12 3 24
% # 3 14 8 8 3 3 1 2 0 4.7
o= g ehe i 5 7 2 7 2 5 2 5 2 1.4
KEVATLFI=R sy 2 1 1 1 1 1 1 1 1 05
MWENEAN FET4H 0 0 0 0 0 0 0 0 -
& &t 20 46 20 39 14 22 8 20 6 2.3
Bl HA 20 38 26 35 24 23 15 21 13 1.9
% = 3 19 14 7 6 3 3 1 1 6.3
FYEIEFR H E 7 17 13 17 13 8 6 8 6 24
MENEAN BHT4H 1 1 1 1 1 1 1 1 -
& &t 30 75 54 60 44 35 25 31 21 25
Bl HA 20 95 60 81 47 23 10 22 10 48
BET (—R 8 55 40 35 27 10 10 10 10 6.9
i FEEE R Ba T b 2 1 1 1 1 1 1 1 1 0.5
MWENEAN FET4H 1 1 1 1 0 0 0 0 -
& &t 30 152 102 118 76 34 21 33 21 5.1
Bl HA 150 324 162 294 139 172 76 164 71 2.2
% = 20 115 65 50 28 23 14 17 10 5.8
e At #H B 32 61 36 61 36 35 23 35 23 1.9
wEen 28 80 52 60 39 23 19 23 19 29
MWENEAN BHT4H 3 3 3 3 2 2 2 2 -
& &t 230 583 318 468 245 255 134 241 125 25
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Al HA 615 1,054 419 996 384 693 253 662 240 1.7
% 145 836 361 294 118 183 70 140 62 5.8
. B 217 465 225 465 225 228 126 228 126 2.1
5‘r 228 &5t BEel 10 17 0 17 0 9 0 9 0 1.7
“aen 43 83 52 63 39 23 19 23 19 1.9
MWENEAN| BFT4H 59 11 59 11 21 4 9 4 -
& &t 1,030 2,514 1,068 1,894 777 1,157 472 1,071 451 24




